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JDD-45/TGT-S0C.SCIX-14
SECTION - A
i) General Awareness
The island of Sri Lanka formerly 8. First International Peace Congress
known a3 was held in London in
(A) Madagascar {A) 1564 AD (B) 1798 AD
(B) Tasmania (C) 1843 AD (D) 1801 AD
(C) Ceylon 7. Dr. Zakir Hussain was
(D) None of the above (A} the first Muslim Prasident of India
Golden Temple, Amritsar is India’s (B) first Vice President of India
[A'|. L-EI.I"QE'Et Gurudwara 'l:"::l- first President of Indian Mational
Congress
(B} Oldest Gurudwara
: (D} first Speaker of Lok Sabha
(C) Baothoption (A) and (B)
(D) None of the above 8. G-15 is an econoric grouping of
ry riaar ko Tk anH (A) First World Nations
eavy Water Project (Talcher) a ,
Fertilizer plant (Paradesp) are famous (B) Second World Nations
industries of (C) Third World MNations
(A} Orissa (D) Fourth World Mations
(B) Tamil Nadu g Fathomater is used to measure
(C) Andhra Pradesh (A) Earthquakes
(D) Kerala (B) Rainfall
Hamid Karzal was chosen Prasident (C) Ocean depth
of Afghanistan in (D) Sound intensity
W) SR (8} 2qut 10. Economic goods are
(C) 2802 (D) 2003

Durand Cup is assoclated with the
game of

(A} Cricket
(B) Football
(G} Hockey
(D) Volleyball

(A) All commodities that ara limited
in quantity as compared to their
demand

(B) Commodities that is available
according to their demand ~

(C) Commodities that is availabla
more as compared to demand

(D} None of the above
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| 11. Who composed the famous song 16. The serial ‘India’'s Rajiv’' was
i ‘Sare Jahan Se Accha’ ? produced and directed by
‘ % (A) Jaidev (A) Simmi Garewal
(B) Mohammad Igbal (B) Satyajit Ray

(C) Bankim Chandra Chatterjee

(C) Shyam Benegal
(D) Rabindranath Tagore

(D) Mira Nair

12. In which of the following festivals are _ S
boat races a special feature ? 17. “Man without society is either a beast

or a God". Who said this 7

(A) Onam

(B) Rongali Bihu (A) Plato
(C) Navratri (B) Gandhi
(D) Pongal (C) Aristotle

13. Kalchakra ceremony is associated with (B) Henry Maino

. . = :;.
W e NG, O ITIEING 18. The original name of "Mahabharata” is

:;; ;lln;du:,m (A) Katha Saritsagar
uddhism

(C) Jainism (B) Jai Samhita

(D) Islam (C) Brahat Katha

(D) Rajatarangini
14. Which of the following places is

famous for Chikankari work, which is 19. “Rosh Hashanah® is the new year's
a traditional art of embroidery ? day of which communities ?

(A) Lucknow

(A) Jews
(B) Hyiderabad (B) Muslims
vd | g (C) Hindus
(D) Mysore .
(D) Shinto
15. The rock formations that cannot store
groundwater are called 20. The Battle of Plassey was fought in
(A) aquifers (A) 1757 3
(B) aquicludes (B) 1782
(C) perched aquifer (C) 1748
(D) spring (D) 1764




11,

12,

13,

14.

15.

A

‘ATt w21 & ST gE vEe TRl
= A

(&) =ToEE

(B) HiEHEsEa

(C) wiFm == sl

(D) T T

Frer 3 5 i e § A A e (e
) T R g d 7

(A) i

(B) T g

(C) i

(D) i

T s Fe e ae 8
arafad y

(a) fem

(B) =g

(€) =

(D) THAH
iczeanteaniie i te R T Lo
w e, Fada o e waag? 7
(A) TETH

(B) R

(C) =t

(D) T

=1 T —HHE Y—a F1 5l e w1,
2ge

(A) e (Ul
(8) wHfmR

(C) 2 U
(D) =

16.

17.

18.

19.

20.

JDD-45/TGT-SOC.5C/X-14

"G T TR SETE SR
afn famafifa 41

(&) TETETE

(B) wesla 1y

(C) T

(D) s

w3 afT et T A wLR A
WEE e e e 7

()

() il

(C) sfees

(D) *F%

“wEmira | FEE AW R
(A) T HREE
(B) =UHEa

(C) =&dweT

(D) TrstaEief

“imETeR A TmEREm Tt

(A) T
(B) wEFW
(c) fesg
(D) TR

T i ST 3E g9 S

(A 1757 X
(B) 1782

(G} 1748

(D) 1764




JDD-45/TGT-SOC.SC/X-14

iy General Intelligence and Reasoning Ability

21, Look at this series’
353510123517...

What number should come next 7
(A) 2235 (B) 3519

(C) 1935 (D) 2224

25, Look al this serias;
B 43, 11,41,_,39,17,...

What number should fill in the blank ?
(A} 8 (B) 14
(€) 43 (D) 44

Find the word that a necessary par of the
underined word.

23. lightning
(A) electricity
(B) thunder
(C) Dbrightness
(D) rain

24, BRISTLE : BRUSH
(A) arm:leg
(B} stage:curtain
(C) recline : chair

(D} key: piano

25. RAIN: DRIZZLE
(&) swim : dive
(B heop :shuffle
(S} run:jog
(D) walk : run

26. A fruit basket contains more apples than
lemons.
There ara more lemons in the basket
than there are oranges.
The basket contains more apples than
Ofanges.
It the first two stalements are frue, the
third statemant is

(A} True
(B) False
(C) Uncertain

(D} None of the above

o7. Four defensive football players are
chasing the opposing wide raceiver,
wha has the ball. Calvin is directly
behind the ball carrier. Jenkins and
Burton are side by side behind Calvin.
Zeller is behind Jenkins and Burton.
Calvin tries for the tackle but misses and
falls. Burton trips. Which détensive-
player tackies the receiver 7

(B) Zoller
(D) Calvin

(A) Burten
(Cy Jenkins
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TorT T T T E e 2 26. Al oht TRt 7 e B SATET Hel ¢ |
50 s i v A et 1 e g €, 3ud e i R |
(A) 8 (B) 14 et | Tl ° AT U g |
(C) 43 D) 44 S T8 & HUH HE 2 ql dATE HUA &
(A) G&
z@%ﬁqﬁrw FT ATIITH UTTETAT 766 (B) T
|
(C) ARfra
23, fosreh (D) AH @ 1S A=
A) T 7. ot arge ifyar, froes v aier 7, 3T
(B) TSRS | IR @ Raerel fraT s © 2 | FHelfed
(C) <if SfeT HRER F Tehen IR 2 | Hhafed & 8
(D) s ST ST | SR 3R S § | SiHfRd
: | SR % F1D FeR B | hedfed Tohed i
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Each question presents a situation and
asks you to make a judgment regarding that
particular circumstance. Choose an answer
(A) JKJ based on given information.

28. BCB, DED, FGF, HIH,

A

g hoe
PRP LA ST A
Fo et : :

31. The school Principal has received

(B) HJH complaints from parents about bullying

in the school yard during recess.

He wants to investigate and end this

(C) Wi situation as soon as possible, so he

has asked the recess aids to watch

(D) JHJ closely. Which situation should the
| recess aids report to the Principal ?

(A) A girl is sitting glumly on a bench

reading a book and not

29. QAR, RAS, SAT, TAU, interacting with her peers.

(B) Four girls are surrounding
another girl and seem to have

i (nd possession of her backpack.
(C) Two boys are playing a one-on-
(B) UAT one game of basketball and are
arguing over the last basket
scored.
(C) TAS
(D) Three boys are huddled over a
handheld video game, which
(D) TAT isn’t supposed to be on school
grounds.
32. Here are some words translated from an
30. FAG, GAF, HAI, IAH, artificial language.
moolokarn means blue sky
(A) JAK | wilkospadi means bicycle race
moolowilko means blue bicycle
(B) HAL Which word could mean “racecar” 7
(A) wilkozwet

(C) moolobreill

(D) JAI (D) spadivolo
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33. Here are some words translated from
an artificial language.

things the Nag repréesents Is freedom ol
spesach, which includes, | balieve, the right

L ]

L] I"'I‘"

.”'“,;n

R K

g g N Yy
M

£
.ﬂ %’gg; lefibroon means yellow hat tor & citizen 1o express displeasure with the
L| S plekafroti means flower garden governmant by burning the flag in protest.
:ﬁgu m?:nﬁ glzrd&n sai:ad 35. Which of the following is similar to the
! " r,“:ﬂ coulkl mean yolow argumenl made by the speaker 7
B) lelipleka ‘buy’ politicians, so the Congress

should enact campaign finance

(C) plekabroon Ay

(D) frotibraon (B) Thaidea of freedom of religion

34, Here are some words translated from
an artificial language.
myncabel means saddie horse
conowir means trail ride

also means the right not to
participate in religion, so

mandated school prayer violates
freedom of religion.

. cabelalma means horse blanket (G} The Constitution guarantoes

Which word could mean ‘horse ride” ? freedom to own property, 50

{A) cabelwir taxes should be illegal,

(B) conocabel (D) Convicted felons should not have
{C) almamyn their convictions overturmed on 2
(D) conoalma technicality.

Which of the following, if true, would
weaken the speaker’s argument 7

{A) An action is nol considered a part
of freadom-of speech

Read the below passage carefully and 36,
answer the guestions:

Some groups wanlt lo outlaw buming the
flag. They say that pecple have fought and
died for the flag and that citizens of the
United States ought to respect that. But |
P say that respect cannot be leg-isolated. (C) The flag was not recognized by
! Also, most citizens who have served in the the government until 1812

(B} Paople who burn the flag usually
commit other crimes as well

military did not fight for the fiag, they fought (D) Most people are against fag
burning

for what the flag represents. Among the

A* 12
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37. Which of the following best expresses | 39. Statement : Should India encourage
axports, when most things are insufficiant

the main point of the passage 7 . :
for internal use itself 7

(A) Onily velerans:care about the

flag-burning issue AIQUMSTS.

. I Yes. We have to eam foraign

(B} Flag buming will be a very sxchange to pay for our impors.

ln'rpnftant IssuE N the next R T e Wy

election encouragement would lead to
(C) Tooutlaw flag burning is to shortages,

outlaw what the flag represents (A} Only argument | is strong

(B) Only argumerit Il is strong
(C) Eitheriorllis strong

(D) Burning the flag should only be

ilegal when it is done in forelgn =g
countrias (D} Neithar | nor I is strong
38, Look at this series: U32, V28, | X23; W SIS Elmuﬁﬂﬂﬂ‘redmgspﬂfﬁntad
. and manufactured in Westemn countries
Y20, ... What number should fill the bé first tried out on sample basis before
| blank 7 giving licenca for sale to general public
| A Wos in india ?
' B) W7 Arguments ;
I Yes Many such drugs require
i o difierent doses and duration for
D) Z26 Indian population and hence it is
NEcassary.
Directions (Qs. 39 and 40) . Il Nao. This is just not feasible and
hence cannol ba implemented.

Each questian given below consists of a
statement, followed by two arguments

| numbered | and Il. You have to decide (B) Only argumant |l is Btrong
(C) Either | or |l is strong

(A)  Only argument | is strong

which of the arguments is a ‘strong’ _
argument and which is a ‘weak argument (D)  Meither | nor Il is strong.

Ax TR
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iii) Arithmetical and Numerical Ability

41,

42.

Two trains are running in opposite
directions with the same speed. if the
length of each train is 120 metres and
they cross each other in 12 saeconds,
then the speed of each train (in km'hr) is

(A} 10 (B) 18
(C) 36 oy 72

Twio trains of equial lengths take 10 seconds:

and 15 seconds respectivaly o cross a
telegraph post. It the lengthof each train
be 120 metres, in what time (in
seconds) will they cross aach other
travelling in cpposile direction 7

(A) 10 (B) 12

{C}) 15 (D) 20

Each of the questions given below
consisis of a question followed by three

] staternents. You have to study the question

and the statements and decide which of

the statement({s) is/are necessary 1o

43,

answer the question 7

What iz the speed of the train 7

|. The train crosses a signal pole in
18 seconds.

Il. The train crosses a platform of
equal length in 36 seconds.

Il Length of the train 18 330 metres.

(&) land |l only
(B) land il only
(C) 1and Il only
(D) W andeither | or Il only

44,

46.

16

A takes twice as much time as B or
thrice as much fima as C to finish a
piece of work. Working together, they
can linish the work in 2 days. B can
do the work alone In

{A) 4 days
{B)
(C)
(D)

6 days
8 days
12 days

When a plot is sold:for Rs. 16,700,
the owner loses 15%. At what price-
must that piot be sold in ordar to gain
15% 7

[A)
(B)
()
(L)

Hs. 21,000
Hs. 21,500
Hs. 25,300
Hs. 25,800

Ayesha's father was 38 years of age
whien sha was born while her mother
was 36 years old when her brother
four years younger to her was bom.
What is the dillerence between the
ages of her parents 7

(A
(B
(G}

(L2

B yaars
B years
2 years
Mone of these
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49.

The average weight of A, Band C is
45 kg. If the average weightof Aand B
be 40 kg and that of B and C be
43 kg, then the weight of B is

(A) 17 kg
(B) 20kg
(C) 26kg
(D) 31 kg
Find the highest common factor of
36 and B4,
(A) 4

{C) 12

(B) 6

(D) 18

Which of the following has the most
number of divisors ?

(A) 127

(B) 123

[C) 235

(D) 3065

The least perfect square, which s
divisible by each of 21, 36 and 66 is

(A) 213444
(B) 214344
(C) 214434
(D) 231444

o1,

52.

63
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A flagstaff 17.5 m high casts a shadow
of length 40.25 m, The height of the
building, which casts a shadow of length
28.75 m under similar conditions will be

(A) 8m
B) 10m
(G} 102m
(D) 125m

In covering a distance of 30 km, Abhay_
takes 2 hours more than Sameer. [i
Abhay doubles his speed, then he
would take 1 hour less than Samesr,
Abhay's speed is

(A) 5kmph
(B) & kmph
(C) 6.5 kmph
(B) 5.6 kmph

A sum of money amounts to Rs. 8,800
after 5 years and As. 12,005 after B years
at the sama rate of simpie interest. The
rate of interast par annum is

(A} 5%
(B) 8%
(C) 12%
(D) 15%
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48,

489,

A BHN CH fmn s as i m. B
aft A 3 B =1 3 79 40 f5. .
R B 3w oo shwawaT 4afe m 2,
A BFEE 2

Ay 175 o
(B} 20, m,
() zaf o

(&) 317 o

36 91K 84 7 st R (TRiTE)
{A) 4 B) B
(&) 12 (o) 18

= 1 8 o] st anss 2 0
(A) 127
(B) 123
(C) 235
(D) 305

21, 36 31 86 H fvrea 51 v =mam
oo i #

(A) 213444

(B) 214344

(C) 214434

(D) 231444
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U 17.5 1. T915 ¥ s=Saey 40,28 o,
T T s | R T e 759,
(A} G,

(BY 10t

(C} 1024,

(D) 1254,

30 Frdf. i 7 ot e § snm i &
2 52 s o 2 | I v s iy
T w0 # e 9wl A v v e
= | s R

(&) 5T, wfEa

(B) 8. ol

(C) 6.5, g

(D) 567 @. vlga

U HT TR ST 408 S e 6w et
%. 9,800 Tt # 3t 8 W A 5 12,005
BTt & | W s Er

(A} 5%
(B} &%
(C) 12%

(D} 15%
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A man tock loan from a bank at the rate
of 12% p.a. simple intarast. After 3 years
he had to pay Bs. 5,400 interest only
for the period. The prncipal amount
borrowed by him was

{A) Rs. 2,000

(B) Rs.B8.032.50
(C) Rs. 15,000
(D) Ras. 20,000

The difference batweean the length and
breadth of a recltangle ts 23 m. If its
permeter is 208 m, then iis area is

(A} 1,520m2
(B} 2420 m?
(C) 2480 m2
(D) 2,520 m?

B17+6017+08174+6.0017=7
(A) 6.2963

(B) 62985

(C) 5296357

(D) None of these

A large tanker can ba fillad by two
pipes A and B in 60 minutes and
40 minutes respectively. How many
minutes will it take to fill the tanker
from empty state if B is used for half
the time and A and B fill it tagether for
the other half ?

(A} 15 min
(BY 20 min
(C) 27 min
(D} 30 min

JDD-45/TGT-SOC.SC/X-14

58. The product of two numbers is 8375

and the quofient, when the larger one
is divided by the smaller, is 15. The
sum of the numbers is

(A) 380
(8) 400
(C) 385
(D) 425

If 40% of a number is equal to two-third
of anather number, what is the ratio of ~
first number to the second numbear 7

(A) 2:5
By 3:7
Gy 5.3

(D) 7:8

The price of 10 chairs is equal to that
of 4 tables. The price of 15 chairs and
2 tables together is Fs. 4,000, The
total price of 12 chairs and 3 tables is

(A) Rs. 3,500
(B) As. 3,750 -
(C) Fs. 3,840

(D) Rs. 3,900
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iv) Test of Language : Hindi

e e @ TRl
i T a8 67, el IeE T eEEEd B9 R
i (B) AR () Erebrl
&2, ;:Tfj;ﬁﬁ.mi ) i
) T e (D) ®TEE
(C) e+ 68, ‘AT wEE T HHien &
(D) T+ IEE Ay RE
53, WarmTE R | g e w R (B) T :
(&) TERITEE YA (C) il
(B) eI SAH D)
(C) T
D) Wh=EE go. ‘mErn weE ! fAvem FI8
g4, ‘wn W W () =
(A) (B w= (B) @
(C) e (D) @ (C) =W
[ 65, 'UEAI ¥R o WOTHE FY B (D) =&
i ;;}' i 70, =% IFETEAE W R | 7n A
() @ (D) TREN e s
86, “miin’ w7es I wEEE BN R b e
(A) R
@ o (B) TR A
(c) =f (C) TR
(D) T (D) e
A
-




‘&

T w71 ofw 72 1 S v e |
71. {A)
(B)
(C)
(O}
(A
(B}
(C) =r==w
(D) =5

ok 3 w2 e’ wm g
B7
(A) SEHE T

74, s wen’ o W R

(A) e (8) #&m

(C) 5 =PI (D) o1
75. T R e g6 et @ e 3

(A) T (B} e ==

(C) &= (D) FETETE
76, WaHE WA T et e

(A) FEEEAT (B) FfEadm

(C) FeFTEE (D) FHEMA

JOD-45/TGT-SOC.SCIX-14

T e Frefeias v & o ol

ATesrET apE e e w5 B an
Hiteey 473 4 uzeaqol arer & | B T
o U TR | 3T TSt S e
FEAEA] T, | AT T ARy | il
= TEF T | AT e 9ne e

TEH 97 | Fifwidt & geaelt 25 S

2 o ga |
77. wﬁﬁmw&?

(A) HIEE
(B) FEITeRT]
(C) T
o) =H

78.  =vELr fer o e e e 7
(A) o T
(B) =T
(C) ifreriie o germ) w0
(D) = = B H

79. 19T gy a7
(A) =
(B) W e i s
(C) A, yre e W oee
(D) TFEiaad

80. wmﬁmmmmmﬂ
(A) =THTE

(B) TR T g
(C) e e

(D) T




JDD-45/TGT-SOC.SC/X-14

v) Test of Language : English
STTST TATETOT ¢ ST

Directions for Qs, 81 and 82 .

Read the each sentence to find out whether
there is any grammatical errorinit. The arror,
if any will be in one part of the sentence. The
letter of that part is the answer. Il there is no

efror, the answer 15'D', (lgnore tha errors of

punctuation, if any.)

81. Do the roses in your garden smell (A)/
more sweetly (B) / than those in
ours 7 (C)/ No errar (D)

B2, Block of Flas'fdan_tial flats (A) [ are
coming up (B} / near our house.(C) /

Mo arror (D)

B83. Piyush behaves strangely al times
and, therafore, nobodygets
with him.

(A) aboul
(B) through
(C) along

(D) wp

Bd. Toeris to torgive divine.

(A} human
(B) beastly
(C) inhuman
(D) natural

In sach guestion below, there is a sentance
of which some parts have been jumbled up.
Rearrange these pars which are labelled P
Q. R and S to produce the correct senience.
Choose the proper sequence.

85. |read an advertisement that said
P : posh, air-conditioned
Q gentleman of taste
R : ara available for

S : fully furnished rooms

The Proper sequenca should be:
(A) SRPQ

(B) PSRQ -

(C) QPSR

(0) RQPS




i

88.

a8,

88.

Name the part of speech of the.
underlined word in the befow given

‘sentence.

“There is gn errer in the sentance”.
(A) verb '

(B) neun

(C) adverb

(D) ‘article

Mame the type of the below given
“Pleasa give me your pencils”.

(A) Assertive sentence

(B} Imperative sentence

(C) Exclamatory sentence

(D) Interrogative senience

What type of noun is “crowd” ?
(&) Common noun

(B) Praper noun

{C) Collsction noun

(D) Material noun

Mame the type of the underlined
prenoun in the below given sentence
The girl who danced is my sister.
(A) Relative pronaun

(B} Demonstrative proneun

(C) Interrogation pronoun

(D} Parsonal pronoun

-
=
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Directions for Qs. 90 and 91 (Active/Passive
volce)

an. They have built a perfect dam across
the river.

21.

92,

(A)

(B)

(C)

(D)

Across the river a perfect dam
was built.

A patfect dam has been built by
thermn across the river,

A perfect dam should have been :
built by them, .
Across the river was a parfect

dam,

Do you Imitate others 7

(A
(B)
(C)
o)

Ara others being imitated by you 7
Are others imitated by you 7

Have others being imitated by you 7
Were oihers being imitated by you ?

Mame the kind of gender of “Table".

(A} Masculine gender

(B) Faminine gender

(Cl

Neuter gender

(D) Common gender
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Passage ' A recent report in News Week says
that in American colleges, students of Asian
origin outperform not only the minority group
students but the majority whites as well. Many
of these sludents must be of Indian origin, and
their achisvement is something we can be
proud of. It is unlikely that these talented
youngsters will come back to India, and that
is the familiar brain drain problem. However
recent statements by the nation's policy~
makers indicate that the perception of this
issug is changing. ‘Brain bank' and not ‘brain
drain’ is the more appropriate idea, they
sugges! since the expertise of Indians abroad
is only deposited in other places and notlost,

This may be so, but this brain bank, like
most other banks, is one that primarily serves
customers in its neighbourhood. The skills of
tha Asians now excelling in America’s
colleges will mainly help the U.S.A.. No matter
how significant, what non-resident Indians do
for India and what their counterparts do for
other Asian lands is only a by-product,
But it is also necessary to ask. or be reminded,
why Indians study fruitfully when abroad, The
Asians whosa accomplishments News Week
records would h_mra probably had a very
different tale if they had studied in India. In
America they found elbow room, books and
facilities not available and not likely to be

A
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available hara. The need to prove themselves
in their new country and the competition of an
international standard they faced there must
have cured mental and physical laziness, But
other things helping them in Ametica can
be obtained here if we achieve a changs
in soclal attitudes, specially towards youth,
We need to leam to value individuais and
their unique gualities more than confofmity
and respectability. We need 1o leamn the
language of encouragement to add to our skill
in fiattery. We might aiso leam o be less
liberal with blame and lsss tightfisted with
appreciation, ES-FFE-HHM

93. Among the nﬁrﬂmﬁm
in American collsge

(A)

(B}
(C
as tha !.i.?hHﬁ‘ _ :
(D) have only a minorty stais &
biacks

94. Thestsdentol AsanE -
include o
(A) & fair numbe "
(B} asmallgr
(C) pem=
proud.
©) Indian

s———
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B7.

In genaral, the talented young Indians:

studying in Amernca

(A) have a reputation for being hard
working.

(B} have the opportunity to contribute
to India’s development.

(C) can solve the brain drain problem
because of recent changas In
policy.

(D) will not return to pursus their
careers in India.

There is talk now of the ‘brain bank’.

This idea

(&) isa solution to the.brain drain
problem.

(B) isanew problem caused partly by
tha brain drain.

(C) s anewway of looking at the rote
of qualified Indians living abroad.

(D) is basedonaplan to utilize foreign
exchange remittances to stimulate
research and development

Tha brain bank has limitations like all

banks in the sense that

(A) abank's services go mainly to
those near it

(B} small neighbourhood banks are

not visible in this age of
multinationals

{(C) only what is deposited can be
withdrawn and ufilized

(D) noone can be forced to put his
assets in a bank

98,

100.
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The author feels that what non-
residént Indians do for India :

(A) will have many useful side affects

(B) will not bie their main interest and
concam

(C) can benefit other Asian countries,
as a by-product

(D) can American colleges be of
‘service to the world community

The performance of Indians when
they go fo study in the Wesl

(A) shows the fruits of hardwerk done
by school teachers in India

(B) should remind us that knowledge
and wisdom are not limited by the
boundaries of race and nation.

(C) is befter than people in the West
expect of non-whites.

(D) is bettar than what it would have
been if they had studied in India.

The high level of competition faced

by Asian students in America

(A) helps them overcome their lazy
habits.

(B} makes them lazy since the
facilities there are good 1

(C) makes them womied aboul failing

(D) helps them prove that they are as
good as whites
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101.

102.

103:

104,

105,

SECTION - B
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Past Specific Subject-Related Questions

The Law of Diminishing Returns to
Scale holds true in the

(A) Market - Pariod
(B} Short — Period
{C) Long— Period
(D)} Secular - Pariod

The first stage in the Demographic
Transition Theory of population was
characterised by

{(A) High BR and High DR
(B) High BR and low DR
(C) Low BR and Jow DR
(0} Low BR and High DR

The Phillips Curve shows the relation
between

{A) Income and consumption
(B) Income and price level

(C)  Income and investmend

(D) Infiation and unemployment

The doctrine of unbalanced growth
has not been advocated by

(A) H.W. Singar

(B) W. A, Lewis

(C) A. O. Hirschman
(D) C.P. Kindiebarger

Purchasing power parity theory was
given by

(A) Haberler (B} J. S. Mill

(C) J.E Meads (D) Gustav Cassel

28

106.

107.

108.

108,

110,

The price elasticity of demand is equal
to one for a demand curve, which is

(A) Horizontal line

(B) Vertical line

(C) Rectangular hyparbola

(D) Downward moving line

Which ane of the following is nnt. an
instrument of fiscal policy 7

(A) Public Revenus

(B} Public Expenditure

(C) Public Borrowing

(D) Cash Reserve Ratic

The concept of single factoral and

double factcral terms of trade have
been given by

(A} Haberler
(C) Snider

(B) Jacob Viner
(D} Scammal
Which repont used the term, “sustainabile
development™for the first time 7

(A) Brundtland Report

{B) Vienna Report

{C) Bretton Wood Report

(D) World H. D. Report

The concepl of 'Reserve Army of
Labour' is given by

(A} Karl Marx

(B} David Ricardo

(C} Adam Smith

=

(D) J. S. Mill
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111. Tha earilest duopoly model was
developed by
(A} Bertrand

(C) J.B.Clark

(B) Coumal
(D) Edgewarth
112. Human Development Index was
formulated by
(A) Warld Bank
(B) International Monetary Fund
(C) UNTAD
(D) UNDP
113. AFC equals the vertical distance
between the
(A} AC curve and MC curve
(B) AVC curve and MC curve
(G} AC curve and AVC curve
(D) TC curve and TVC curve
114, In the Hekscher-Ohlin theory, the most
important cause of the differance in
relative commodity prices and trade
between nations is a difference in
(A} Factor endowmants
(B) Technology
(C) Tastes
(D) Comparativa cost
115. Wha led the Narmada Bachavo
Andolan 7
(A) Medha Patkar
(B} Sundarlal Bahuguna
(C) Rajiv Dixith
(D) Chandi Prasad Bhatt

118.

117.

118.

119,

120.

121.
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Critical Minimurm Effort theory is given by
(A} Leibanstein

(B) Rosenstein Rodan

(C) Arther Lewis

(D} Marx

Which of thie following is least liquid
asset 7 '

(A) Money (B) Machines
(C} Shares (D) Bonds
Which of the following are leakages
from the circular flow ?

\A)  Consumption and savings
(B} Imports and exports
(€) Exports and savings
(D) Savings and imports

Lorenz curve is used to measure

(A)  Inequality

(B) Poverly

(C)  Inefficiancy

(D)} Production possibility

Which country is the largest producer
of mica ?

(A} India (B) USA

(C}) China {Ef_a_ &us_f_f_'alta

Wagner's law is based on
(A) Rising pricas L

(B) Rising public expenditure
(C} Rising public receipts.
(D) Rising public debts
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123.

124,

125.

1286,

127.

Incidence of tax is
(A) First point of contact

(B} Final resting placs

(C) Both (A} and (B}
(D)  None of the above

'Fres Ridar' problem arises in the
case of

|A) Private goeds
{B) Consumer goods
{C) Public goods

(D) Caphal goods

Specific tax ig

{A) Fixed amount

(BY Irrespective of outout
(C) Pervalue of output
() Per unit of output

Bretton Woods twins are

(A U. K. andU. S A

B) W.T.Q.and).T, O

(C) | M. F. and Werld Bank
(D) Britain and Woodland

Price Rigidity is the leature of

(A) Monopoly

{B) Oligopoly

iC) Ducpoly

(D) Duopsony

In which year the Forest Rights Act
was passed 7
(A) 1869
(C) 1975

(8) 1870
(D) 1265

128,

129,

130.

$a1.

132.

133.
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Price discrimination is followed by
(A} Monopoly producer

(B) Oligopoly producer

(C) Duocpoly producer

(D} Duspsony producer

Kinked demand curve is related 1o
(A)  Monopoly {B) OCligopoly »
(C) Duopoly (D) Duopsony

Firm attains equilibrium under pedect
competition when
(A) MR = AR

(€) MC=MR

(B) MC=AC
D) TR=TC

According to Say's law of market
(A) Supply is greater than demand
(B) Supply Is less than demand
(C) Demand creates its own supply
(D) Supply creates its own demanid

Kalinga war of Ashoka is evidenced by
(A) Brahmagiri adict

(B} Bhabru edict

{C) Maski edict

(D) Rock edict XlI

Allahabad Inscription was issued by
(A} Chandragupta | ¥
{B) Samudragupta

(C} Ramagupta

(D} Chandragupta Il
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136.
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‘Rajatarangini’ was composed by
(&) Kalhana

(B) Mahendravarman |

{C} Parameshwaravarman

(D) Bithana

In which year Food Corporation of
India was established 7

(A) 1965 (B) 1969

(C) 1970 (D) 1960

The Kailasa temple at Ellora was
built by

(A) Krishna |
(C) Dhruva

(B) Govindalll
(D) Knshna lll

"Lakh Baksh' was the title of
(A} Qutubuddin Aibak

{B) litutmish

(C)  Alauddin khilji

(D) Firoz Shah
Muhammad Bin Tughlag transferred
the capital from

{A) Delhi to Uffaini

{B) Delhi to Devagiri

(C) Dalhi to Mathura

(O} Delhi to Allahabad

Talikote' battle was fought between
(&) Vijayanagara and Bahamani
(B] Chalukyas and Kadambas
(C) Keladi and Vijayanagara

(D) Vijayanagara and Wodeyars

140.

141,

142,

143.

144,

145.
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| Battle of Panipat was fought between
(A) Babur and Sher Shah

(B} Babur and Rana Pratap

(C) Akbar and Hemu

(D} Babur and Ibrahim Lodi

The famous Madarasa at Bidar was
built by

(A} Muhammad Gawan

(BY Muhammad Shah

(C) lbrahim il

(D) Muhammad Adil Shah

In which year the Tata lron and Steel
Company was set up 7 {

(A) 1907 (B) 1910

(C) 1800 (D) 1903

The battle of Plassey was fought in
fhe year

(A) 1781 (B) 1756
(C) 1764 (D} 1757
Treaty of Mangalore ended

(A)  1Anglo Mysore war
(8] Il Anglo Mysore war
(C) 1l Anglo Mysore war
(D) IV Angio Mysare war
Parmanent seltlement was
introduced by

{A) Lord Wellesley

(B} Lord Cornwallis

(C} Lord Hastings

(D) Lord William Bentinck
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146.

147.

148,

149,
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Deotrine of Lapse was infroduced by
(A} Lord Dalhousie

(8) Lord Comwallis

(C) Lord Wellesley

(D} Sir John Shore

Indian Mational Congress was
founded by

(A) A O.Hume

(B) Mahaima Gandhi

{C) Annie Besant

(D) Bal Gangadhar Tilak

In which year the Telecom Regulatory
Authority of India was set up 7

(A) 1897

(B) 1985

(C) 1880

(D) 1995

‘Lion of Karmnataka' was the litle
given to

(A) F.R. Diwakar

(B) Gangadhar Rao Deshpande
(C) K. C. Reddy

() S. Nijalingappa

Decisicn made directly by the people

without guidance or moral suasion is
called

(4) Direct democracy

(B8] Representative democracy
(C) Aristrocracy

(B} Federalism

181,

152.

153.

154.

155.
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Government led by religious beliefs
ar cuiture is called
(A) -Aristrocracy
(B) Technocracy
{C) Theocracy
(D) Totalitarian
Distribution of power between central
government and state government is
(A) Unitary feature '
(B) Federal feature
(C) Dyarchy
() Autonomy
State list consisted which one of the
tollowing item 7
(A) Post and Telegraph
(B) Insurance
(C) Land policies
(D) Shipping and Navigation

Which of the foliowing has launched

Sagar Samyuddhi Project near Mumbai ?
(A} ONGC (B) IOCL
(C} BPCL (D) HPCL

Susan B. Anthany was a leader of the
movementto

(A) Guaranteed former slavesthe
right to vote

(B) Guaranteed women the right to
vole in national elections _

{C} Ensure that the harsher laws
against criminals

(D) Reduce the authority of the
Constitution of United States
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158.

157,

158.

158.

What was the source of the following
phrase, ‘Govemnment of the peoples,
by the people for tha peaple’

(A) U.8. Constitution

(B) Declaration of Independence

(C) Geltysburg address

(0 The speech *l have a dream”

The phase that in America there should

be a "Wall of separation beiween
chureh and state” appears in

(A) Thomas Jefferson's letter

(B) George Washington's farewell
address

{C) May Flower Compagt

(D) The L.8. Constitution

in*“l have a Dream" Speech
Cr. Martin Luther King

{A) Expressed his hopes for social
justice and brotherhood

(B} Advocate black saparatism

(C) Argued for the abolition of slavery

(D) Morally defended affirmative
action

Which group of countries are termed

as "“Third World" countries 7

(A) Panchasheeia

(B) MNAM

(C) NATO

(D) SEATO

180.

167,

162,

183,
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‘Gujral Doctrine’ glves more importance
to have good relations with
(A) NATO countries
(B) ASEAN
(C}) SAARC
(D} SEATO

Which of the following statements is
true about abortion 7 .

(A) It was legalin most stales.

(B) The Supreme Court struck down
mast legal restrictions.

(C) SupremeCourt rulesthat underage
women must notity their parents of
an unpending abortion.

(D) The Mational Organization for
Women has lobbiad for legal
restriction on il

Which “Designation” or “Position” Is
the head of all civil services in Irndia ?

(A) HAD Commissioner
(B) Cabinet Secretary
(C) President

(D) Speaker

Who was the first Chiaf Election
Commissioner of india 7

(A} T.N Sheshan

(B} Sukumar Sen
(C) | K. Gujral
(D) V.K Menon
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164.

165.

166.

167.

A

One of the official retreats of the
President of India is "Rastrapathi
Bhavan" in Secundarabad. Which is
the other 7

(A) The retreat building of Bhagalpur,
Bihar

(B) The retreat building of Mashobra,
Shimia

(C} The retreat bullding of
Sambhaipur, Orissa

(D} The retreat building of Khandwa,
Madhya Fradesh

How many members are nominated
to the Rajya Sabha by the President
of India 7

(A) 15
©) 13

(B) 14
(D) 12
The Intermnational Data Line is
approximately equal to

{A) The Equator

(B) 100" Meridian

(C) 180" Meridian

(D) MNone of thase

Which of the following types of paper
money is presantly in circulation 7
(A) Inconvertible

(B) Fiat

(C) Convertible

(D) Representative

168.

189,

170

171,

172.
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Which is the only state that touches
Sikkim 7
(A) Assam
(B) West Bengal
(C) Arunachal Pradesh
(O} Meghalaya

The Bhakra Dam is built acroas the river
(A) Ravi {(B) Chenab
(C) Sutlaj (D) Jhelum °

Over 80% of the worid's biomass is In
(A) Fresh water wet lands

(B) Tropical rain forest

(C) Cceans

(D) Topsoils

What is a ‘cloudburst’ 7

(A} It refers to sudden and copious
rainfall aver a small area which
often lasts only a few minutes

(B) It refers to 50 mm rain aver a peried
of tima

(C) |is caused by rapid condensation
of very high clouds

(D) Itrefersto a thunderstormwith litle
rain

One purpose of education is to help
students to acquire the skills they
need to be succassiul in society. This
is an example of a

(&) Manifast function
(B) Constructed reality
(C) Latent function

(D) Entrenched function
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When conducting social research,
what is the nexi step In the sciantific
method afler a review of literature 7

(A) Collectirig data
(B) Choosing a research design
(C) Selecting a researchabie problem

(D) Formulating a hypothesis

What did education development see
as major focus of education 7

[A)
(E)

The reproduction of labour power
The transmission of society's Qﬂﬂiﬁ'
and values

Providing capitalists with workers
most usietul to them

ﬁe-‘ﬁﬁ@hpment-ut-stmﬁg-ssnsa
of individualists

()

(D)

Which of the folfowing Is part of the
critique of education by the Australian
Democrals:?

(A} Spending more money an
education would not Increase
the efficiency ol the workiorce

State interventions in eduction
promote inegualiies

Poverty is an Insurmountable
barrier to the full realization of
intelligence and talent for pupils
of lower socio-economic causes

(8)

(C)

(D) The Australian education system

created equality of opportunities

but not equality of outcome:

1786,

(e

178,

178,

180,
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A style is the pattern
of behavior an individual deveiops in
response to conflict with others, such
as difference of opinion.

(&) Conflict management

(B) Consultative management

{C) Laisssz-faire managemsnt

(D) Autocratic management

For which of the following country-of-
ofigan i imporant in custormer's eyes 7

(A)  Aijrling .

(B) Electronics

(C) Cars

(0] All the above

The first Factories Act was enacted in
(&) 1881 (B} 1895
(C) 1897 (D) 1885
How many naticnalised banks ars
operating in India at present 7

(&) 19 (B) 18

ey 17 (D) 20

Disasters frequently result in all of the
tollowing excapt

(A} Damage to the ecological
environment

Displacement of population

Destruction of a population’s
homealand

(B)
(€)

().

Sustained public attention during
the recovery phase
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The decision to effer humanitasian
aid Is determined by

(A) Theories of social justice
(B} Teleological reasoning
(C) Socio-cultural factors

(D) Al the abova

Social workers skilied in crisis
management where

(&) Flood

(B) Violent avents such as child
abuse, domeslic abuss

Car accident, life threatening
illness

(D) With all the above
The population pyramid of a population
that has had a slightly larger birth rate

than death rate for several genarations
will most likely to have which of the

following shapas 7

(A} Wider at the top than in tha middle
(B) Widerat the bottom than at the fop
(C) Bulging in the middla

(D) Having paraliel sides

(S)

Which of the following aspect of social
life is used in the text to illustrate
insights provided by all three theoretical
paradigms 7

(A) Sports (B) War

(C) Family (D) Education
Years of productive life are calculated
based on the age of death being

(A) B0 (B) 65

)y 70 (D) 75

186.

187.

188.

188,

180.
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Fertility can be best brought undar
rational control by
(A) Legal enactments
(B) Coercion
(C) Education
(D} Schemes of incantives

What is the Target Growth Rate

of 12" five year plan 2
(A) 9% (B) 8%
C) 10% (D} 7%

The study of factors that influence the
fraquency distribution and causes of
injury, dissase and other haalth related
events in a population is called

(A) Sociology

(B} Anthropology

(C} Epidemiology

(D) Pathology

Who inatigurated ‘Sansad Bhavan
building where the Lok Sabha and

Rajya Sabha are given separate
chambers fo maet 7

(A)
(B)
{C)
(D)
The first woman Prasident of UN
General Assembly

Sarojini Naidu <
Annie Besant

Vijayalaxmi Pundit.
Subbalaxmi

(A)
(B)
(C)
=)
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191,

122,

193,

194,

195.

The real executive power under the
Constitution of India rests with

(A) Presidemt

(B) The Prime Minister

(C) The Parliament

(D) The Prime Minister and his council

What was tha former name of SBI 7
(&) Imperial Bank of India

(B) MNational Bank of India

(C} Residential Bank of India

(D) Federal Bank of India
Where is the headguarter of the
International Court of Justica 7

(A) Paris

(B) Rome

(C) The Hague

(D) Washington

In the election of the President which
of the following do not take part ?

(A) Members of Legislative Council
(B) Elected members of Lok Sabha
(C) Elected members of Rajya Sabha
(D) None of the above

Where is the HQ of IMF located ?
(A) Washington DC

(B) New York

(C) Geneva

(D) London

196.

197,

188.

198.
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‘Servants of India Sociely’ was
founded by
(A) Srinivasa Shastri
(B) Pundil Hirdaya Nath Kunzru
(C) Gopala Krishna Gokhale
(D) Bal Gangadar Tilak
Which five year plan is called
Mahalanobis plan 7
(A) NFYP
(B) IFYP
(C) HFYP
(D} IV FYP
Who called Britain a nation of
shopkeepers 7
(A) Hitler
(B) Garibaldi
(C) Mapoleon
(D) Mussolini

Asiatic Society was foundad by
(Al Max Muller

(B) Cunningham

(C) Sir John Marshal

(D) William Jones

Who said " Came, | saw, | congquered 7°
(A) MNapoleon

(B) Shakespeare in Julius Caesar
(C) Admiral Nelson

(D) Hitler
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IMPORTANT INSTRUCTIONS TO CANDIDATES

Fuftaaml & oo aesagel sgEw

This booklel contains 48 pages

Please check all the pages ol the Booklal
carafully. In casa ol any defoct, plogge ask
the inngitator lor replacemant of the Booklal,

Directions : Each gueston or Incomplste
stalement 1§ loliowed by Isur allemative
suggested-answers or completions. In each
case, vou ara required 1o select he ona that
sorrectly answers the quastion of compleles
the statemant and blacken (@) appropriate
circle A, B, C or D by Blua/8lack Ball-Paint Fan
against the gueslion congemed in the
Answer-Shest. (For V.H. candidates
corresponding clrcle will be blackened
by the scribe)

Mark your angwer by shadivig: the approprate
mirole against gach queston, The circle should
be shaded comnpletely without leaving any space.
The comect method of shading s given balow,

Worg Mathard |} Coma Wattiod
uﬁGﬁE Ef.}':] OEOQICesD

Thie Candidate must mark his'her response
atter careful consideration

There s only one gomect answer o 2ach
guastion, You should blackan (@) the circie
af the approprste. column, viz., A, B, Cor D,
It you blacken (@) more than ong clrgle
agaimst any. cr quaﬁtmn. he answer will ba
trealed as wiong. Il you wish to cancel Bny
answer, you should complelsly erase hat biack
mark in thecircle in the Andgwear-Sheet and then
blacken the circle of revised responsa.

A maEching will-resd the coded information
in the OMR Answer-Sheet. In case the-.
information & incompleteddifferant from the
mfarmation given in the application form, the
candidature of such candidata will be treated
as cancoled,

Lise the space lor rough work given fn the
Question Bookiat only and nat on the
Answer-Sheel.

You are NOT required lo mark your answears
in this Booklel. All answers must be
indicated in the Answer-Sheel only.
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Go through instructions given in Page No. 1 (Facing Page)
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